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	Solution to Assignment No. 03 
SEMESTER Spring 2011
CS301- Data Structures
	Total Marks: 20
Due Date: 09/06/2011

	
	Marks: 20  

	Question_1:                                                                                                                                                    [5 marks]
Consider the following AVL Tree
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· Insert new node with value 35 in the above AVL Tree and perform the necessary rotations so that it remains AVL. [show all steps]
Solution:
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New node (35) is inserted in the left subtree of right child, therefore apply right-left rotation
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Question_2:                                                                                                                                                    [15 marks]
Consider the following sequence of numbers:

      [ 65, 80, 25, 40, 70, 90, 10, 75, 30, 5, 50, 85, 15, 100, 60, 45, 20, 35, 95, 55 ]
· Draw AVL Tree. [no need to show all steps, just draw final tree]                                                [5 marks]
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· Delete 5 from the AVL Tree constructed above, re-balance after deletion. [show all steps] [10 marks]
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Balance of node-value 10 has changed to -2, so perform rotation on this node
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Balance of node-value 25 has changed to -2, so perform rotation on this node
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	Lectures Covered:  This assignment covers Lecture # 20-24
Deadline:                  Your assignment must be uploaded/submitted on or before 09-June-2011.
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